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SHOW YOUR WORK!!!! 


 CLOSED BOOK & NOTES  

Problem #1:

An RTD has a resistance of 400  at 25oC with  = 0.0037/oC

(a) What is the resistance at 220 oF?

(b) What temperature in oC corresponds to a resistance of 312 ?

Problem #2:

A Thermistor has R = 8.5 k at 20oC and a slope of –18%/oC and PD = 4.5 mW/oC.

(a) What is the resistance at 22.5oC?

(b) If the self-heating at 20oC is to be limited to 0.05oC, what is the maximum current which can be passed through the thermistor?

Problem # 3:
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Two strain gauges have an unstrained resistance of 120  and GF = 2.08.  They are mounted on a beam as follows:

(a) What is the active gauge resistance if there is a tensile strain of 487 
(b) Show how the gauges would be connected in a bridge to provide temperature compensation.

Problem # 4:

Given a Type J TC with a 25oC reference.

(a) What is the temperature if the TC voltage is 22.87 mV?

(b) What voltage would result from a temperature of 225oC?

Problem #5:

A 10-bit ADC has a 5.00-volt reference.

(a) What binary output is produced by an input of 3.04 volts?

(b) Suppose the output is found to be 1F4h.  What is the possible input voltage?

Problem #6:

A 12 bit bipolar DAC has a 10-volt reference.

(a)  If the hex input is 5D7h what is the DAC output voltage?

(b)  What input is required to get a zero volt output?

